Statistical inference I, 2011 Fall, Homework#1

1. Asymptotic analysis
Show that X, =0,(Y,) implies X, =0.(Y,).

2. Exponential family
Problem 13 (p.143)
Problem 14 (144)

3. Location-scale family

Suppose that a probability measure P, defined on the k-dimensional Borel

field has a density (w.r.t. a Lebesgue measure)
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(i)  Showthat P, (B)=P,(="*(B—px)) forsome P,,and writedown P,.

(i)  For cases of k=12, show P, —, P using Scheffe’s theorem (p.59).

Please explain in details how to apply the Scheffe’s theorem.



